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{(1,2,3,4,5) (4,0,1,1,1)

wy v oy v T:R® 5> R? 3
(5.4,3,2,1) (-1,8,7,8,9)

.R* 5w 0»011MI0VON DN MY (TN D) NVNOY NPXNNADITVNN NI /AN N (2)
: DYNAN DYDY0IN Y NVNOY NPNNNADITVNN NI /A8 .2
pAv2ival

V:{Vlz(%)} ‘R
v={v,=1-1) v,=(11)} :R?
v={v,=(-111) v,=(1-11) v,=(11-1)} :R°

v={v,=(110,0) v,=(0,110) v,(0,0,L1) v,=(0,0,0,)} :R*
v={v(1111) v,=(01111) v,=(0,0111) v,=(0,0,0,11) v,=(0,0,0,01)} :R°

27Y0 19IND DYDYDA MY 7)1 NPNNTIDITVNN NI /AN )

C[T] on [T] nowo [T] ey, [T] X gyo:ambs]

I 1], ©o03n panayn myaon vavn R,R? R? R R® oaninn May (3)

'
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=4 4 4 4 A -

‘R* 5> R®
R*>R
R°>R
R* > R®
R* > R*
‘R®> > R?

T,(X,y) =(—Xx+2y,-3X+ VY, 7X—Y)
T,(X,y,2) =—4x+5y + 27
T,(X,y,2)=3X+352
To(X,y,2) = (X +52, §X+52, §X+32)
T, (X, Y,2) = (X +2y, 2X,— y,—4x - 3y)

T,(Xy,z,5,t) =(Ex+3y—-2z+s, 2x+2y—-8z+t)
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